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Choose the best answer to the following Multiple Choice questions. 

1. On 11 January your vessel's 0655 zone time DR position is LAT 24°30'N, LONG 122°02'W, when an 
amplitude of the Sun is observed. The Sun's center is on the celestial horizon and bears 101.0° per 
standard compass. Variation in the area is 11.6°E. The chronometer reads 02h 52m 48s and is 02m 
12s slow. What is the deviation of the standard compass? 

o (A) 1.4°W 
• (B) 1.4°E 
o (C) 4.6°W 
o (D) 4.6°E 

If choice B is selected set score to 1. 
  

2. On 1 September your 1115 zone time DR position is LAT 25°20.0'N, LONG 28°24.0'W.  
At that time, you observe the Sun bearing 160.5°psc.  
The chronometer reads 01h 14m 58s, and the chronometer error is 01m 17s fast.  
The variation is 13.5°W.  
What is the deviation of the standard compass? 

o (A) 11.0°E 
• (B) 2.1°E 
o (C) 4.1°E 
o (D) 11.0°W 

If choice B is selected set score to 1. 
  

3. What will be the direction and velocity of the tidal current at Provincetown Harbor, MA, at 1405 DST 
(ZD +4) on 5 May 1983? 

o (A) 0.2 knot at 135°T 
o (B) 0.0 knot at 135°T 
o (C) 0.6 knot at 315°T 
• (D) 0.4 knot at 315°T 

If choice D is selected set score to 1. 
  

4. You are to sail from Elizabethport, NJ, on 22 May 1983 with a maximum draft of 28 feet. You will 
pass over an obstruction in the channel near Sandy Hook that has a charted depth of 27 feet. The 
steaming time from Elizabethport to the obstruction is 1h 40m. What is the earliest time (ZD +4) you 
can sail on the afternoon of 22 May and pass over the obstruction with 3 feet of clearance? 

• (A) 1407 
o (B) 1331 
o (C) 1303 
o (D) 1242 

If choice A is selected set score to 1. 
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5. Your vessel departs Seattle at 1010 zone time, (ZD +8), on 28 May bound for Apra, Guam, (ZD -10). 
The distance by great circle is 4,948 miles, and you estimate that you will average 18.5 knots. What 
is your estimated zone time of arrival? 

o (A) 1737, 9 June 
• (B) 0737, 9 June 
o (C) 0737, 10 June 
o (D) 1937, 9 June 

If choice B is selected set score to 1. 
  

6. A vessel steams 3312 miles on course 282°T from LAT 34°24'S, LONG 18°18'E. What is the latitude 
and longitude of the point of arrival by Mercator sailing? 

o (A) LAT 22°42'S, LONG 43°14'W 
• (B) LAT 22°55'S, LONG 43°05'W 
o (C) LAT 22°39'S, LONG 43°17'W 
o (D) LAT 22°47'S, LONG 43°10'W 

If choice B is selected set score to 1. 
  

7. The propeller on a vessel has a diameter of 18.8 feet and a pitch of 21.4 feet. What would be the slip 
if the vessel cruised 378 miles in a 24 hour day (observed distance) at an average RPM of 76? 

• (A) +1.9% 
o (B) -1.9% 
o (C) -4.7% 
o (D) +4.7% 

If choice A is selected set score to 1. 
  

8. You are steaming at 22 knots and burning 319 barrels of fuel per day. You must decrease your 
consumption to 137 barrels per day. What must you reduce your speed to in order to burn this 
amount of fuel? 

o (A) 14.8 
o (B) 12.4 
• (C) 16.6 
o (D) 18.2 

If choice C is selected set score to 1. 
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9. You are taking a time tick using the 1930 signal from Rio de Janeiro, Brazil. You hear the 
preparatory signal "CQ DE PPE" repeated several times followed by a short dash (0.4 sec), 60 dots 
(0.1 sec each) and another short dash. At the beginning of the last dash, the comparing watch reads 
07h 30m 08s. When compared to the chronometer, the comparing watch reads 07h 31m 48s, and 
the chronometer reads 07h 32m 16s. What is the chronometer error? 

• (A) 0m 36s fast 
o (B) 1m 40s slow 
o (C) 0m 08s fast 
o (D) 0m 28s slow 

If choice A is selected set score to 1. 
  

10. You desire to make good a true course of 174°. The variation is 17°W, magnetic compass deviation 
is 4°W, and gyrocompass error is 4°E. A west-southwest wind produces a 4° leeway. What is the 
course to steer per standard magnetic compass to make the true course good? 

o (A) 197°psc 
o (B) 195°psc 
o (C) 203°psc 
• (D) 199°psc 

If choice D is selected set score to 1. 
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